
SAP ABAP table TOIGS1 {TD Intransit Store Location/Cost Center Determination}

TOIGS1

CLIENT [CLNT (3)]

WERKS [CHAR (4)]

INPGP [CHAR (2)]

INSLC [CHAR (4)]

KOSTL [CHAR (10)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 TOIGS1-KOSTL = CSKS-KOSTL 0..N

0..N

T000

MANDT [CLNT (3)] TOIGS1-CLIENT = T000-MANDT 0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 TOIGS1-INSLC = T001L-LGORT 
0..N1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 TOIGS1-WERKS = T001W-WERKS 

0..N

0..N

TOIGS2

CLIENT [CLNT (3)]

INPGP [CHAR (2)]

 TOIGS1-INPGP = TOIGS2-INPGP 

0..N

1


